9.4 Multi-Step Factoring

PRACTICE

| Check the work! Multiply out the factored form to see if it matches the polynomial.
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| Factor the following if possible. Check your answer by multiplying!
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[ Solve the following by factoring.
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[ Answer the following.

17. Simplify 18. Multiply (2x —1)2 19. Solve $_§x=3
- -4

(5x2—2x)+ (x2—x+5)
Sy —dx tx —x*Y

[)‘s"-\(l"">

ey -2 et

(3 e 03)

20. Write the equation of the linear
function for the situation below.

Bob has 26 dollars and makes 5
dollars every 2 hours.
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21. Write the equation of the
exponential function forthe situation.

Bob has 26 dollars and triples his
money every 2 weeks.
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